
Subject: Crossovers for Piezo's
Posted by Wayne Parham on Fri, 07 Dec 2001 11:10:58 GMT
View Forum Message <> Reply to Message

If you use a resistive voltage divider, the padding resistors act as the load to the amplifier, and
they add to the source impedance from the perspective of the load.  In the case of the piezo
tweeter, the load is primarily capacitive.  Because of that, I would use a switched capacitor of
0.1uF to 0.33uF.  That would more closely provide the characteristics you are trying to achieve. 
See the thread called "Pi implementations of quartz piezoelectric tweeters"
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